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I. BXFEHRZOM
[ 1] FEEFEURA
1. BHELILA 6, 144,000 6, 218, 000 AT4,000
1. & #H & 6, 144, 000 6, 218, 000 AT4, 000
1. StERIESE (85) 6, 024, 000 6, 120, 000 A96, 000 | 2,000 X251 A X124 A
2. SEERRISE (BN 120, 000 98, 000 22,000 | 2,000 % 5A X124 H
2. HIRA 55, 000 55, 000 0
1. MU A 55, 000 55, 000 0
1. TH&FIE 5, 000 5, 000 0
2. M I A 50, 000 50, 000 0 | &fEmEAE. i
BEIHILAG 6, 199, 000 6,273, 000 AT4,000
[2] EXEEHRH
1. 5% & 10, 000 10, 000 0
1. 5% % 10, 000 10, 000 0
1. M % 10, 000 10, 000 0 | #RiARE fi
2. EHEmME 7,230, 800 7, 230, 800 0
1. HEITE 7, 230, 800 7, 230, 800 0
1. FMBIARR 1, 130, 800 1, 130, 800 0 | EEEER
2. fi & # 500, 000 500, 000 0
3. & i & 2, 000, 000 2, 000, 000 0
4. KENRBE 1, 300, 000 1, 300, 000 0 | Bx. EFAkE., 2B
5. % & 1, 500, 000 1, 500, 000 0 | &tEsef, A, B, i
6. & B K 200, 000 200, 000 0 | K - hEak B E fR IR
7. R sF OB 600, 000 600, 000 0 | Feers. MBI, BREY
BEEHIHE 7, 240, 800 7, 240, 800 0
FETHINZEEZE (M| A1,041,800 A967, 800 A74,000
I. BEIERIZOR
[1] BEFEURA
1. BEESIAIIRA 0 0 0
1. ERERNLATHIIA 0 0 0
2. EEEEFTINRA 0 0 0
1. fHEsE e HIA 0 0 0
BEEEUNAGT 0 0 0
[2] B#EFEEZH
1. BEREEXH 1, 500, 000 2,000, 000 A500, 000
1. ERERLE 1, 500, 000 2, 000, 000 A500, 000
2. BEEENS/XE 500, 000 500, 000 0
1. A b A S 500, 000 500, 000 0
BEFRHIHE 2,000, 000 2,500, 000 A500, 000
BEFUNZELE B) | A2 000,000 | A2, 500,000 A500, 000
M. MHEIERIZOE
[1] BA¥EEIRA 0 0 0
[2] Bi¥EBIZE 0 0 0
MRS ZE4E (0) 0 0 0
V. $lEEXH
1. FE B 1,112,223 1,336, 118 A223, 895
1. ¥ i & 1,112, 223 1,336,118 A223, 895
Flir&EXHE D) 1,112, 223 1,336,118 A223, 895
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T e ¥ OH OB | meETES | # B %
LU EEE A+B+C-D A4,154,023 | A4,803, 918 649, 895
BRGNS = 58 4,154,023 4,803,918 A649, 895
REPIRBIN T Z 5 0 0 0
(D 1. EAGRER e
2. fEEKm 0 M
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